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3% foa 8, a7 39 U o U S

The objective of the marking scheme is to make evaluation as objective as possible.
The answers given in the marking scheme are not final. This is suggestive and
symbolic. If the candidate answer differ than given answer but it is correct and
appropriate, marks should be awarded to student.

. T, &0, GTIF T qEF I AN FATAT AT &0 S|

Correct, righteous, meaningful and accurate answers should be given due
weightage.

. TETEATAT BT STUET & R el 37 for@d 9% 3¢ qUiTs f&U S|

Full marks should be given to the candidate for writing the correct answer as
expected.

. FaAnTa srgrfeat vay fAuaiaw & fufa § stfed st g aiemff 1 TR 91 F

Do not encourage the candidate by giving more marks in case of spelling mistakes
and digression.

. Tg-AF(eTH T — e TLEATAT 7 I TIATE 67 TT g TAT AT § & U Aol TAT TF T g ar
T AT TATH Al Aol AL AT gU 3 QU S0, 3T Al RET AT ITL F FleT A51 =T 8
T ZAT ITALL T FIET AT E T AT AT ST AT &I19 § T@d g0 o (20 S0
Multiple-choice questions — If the candidate has made two attempts and one of
them is correct and one is wrong, then marks will be awarded considering the
correct option as the right answer, and if no answer has been struck off or even
both if the answers have been crossed out, marks should be awarded keeping in
view the correct answer.

. TEET YEI-Uew! [ IT-gLret A [Aaer o Smar g B 39w qRawrei #1 geaied w3
T AT 3L TOIGAT T AT STTAT g T T 3L F (x) ST w2 ‘0’ 3 T2 o7 1)
All the Chief-Examiners/Sub-Examiners are instructed that while evaluating the
answer sheets, if the answer is found completely wrong, then the wrong answer
should be marked (x) and given '0' marks.
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LSS WA | o 27 fAsraar, g @ ™ g wfw aardt § a1 g @@ o g, 4w
e g o & R & S oft &7y 2 A oft 7 W 7 3T Il v w w4 g 6w
fam T |

In short answer type questions in which two points are asked, if the examinee has
written both the points correctly, or has written five points out of which any two
are correct, even then marks should be given considering two correct and

appropriate answers as correct.

ARTATE AT SFATT q1e T TeT % IAL 1 AATHA AT ARTATE TAT SFATT gF 64T ST
AT, AT 9T aireredT 7 @t 3% T §, 39 9 gq [aiia qor s v & S
FUITCHE T9AT % IAL SATH FLd THT THEAT AT AAFRTTATL e HT ThlT g Teq TLrErest
T TRTLICHT e FRIT ST |

The answer to the question paper distributed part-wise and number-wise should
also be evaluated part-wise and number-wise, full marks should be awarded for
that part for which the candidate has given the correct answer. While checking the
answers to the descriptive type questions, the examiner can mark according to his
discretion, but the candidate should be given positive marking.

TTOT-2THAT Ue AT {<h- FI9 U< 477 {297 A7)

Attention should be paid to language-ability and expression-skills.

HA-TEeAFT [ IT-TEAFRT FT 3L [RAHTN FT AR FIH 6 [T e qroreg Haer/
AR ITAed FXATAT ST LT &, A< oA e | et y& & qfe g, 3¢ &g a1
B, IO <91 ® U U 3% & T g1 av udierd, e qiied F oee- fowet w5 39wy
T HeATET A9 e SATHE Fel

Only general instructions/guidance is being provided to the Chief-Examiners/Sub-
Examiners to evaluate the answer sheets or if there is any error in the evaluation
instructions or the answer is not clear or any other occurs, the examiner, after
discussing with the chief examiner, evaluates that question according to his
discretion.

T 9 H T 38 T &1 T I T AT A0 H FA9E 2

There are total 38 questions in the question paper. The question paper is divided
into total four parts.

AT 1 7 %7 §&a7 01 7 20 T o T ATHA &, & T 1-1 SF F 3 |

Section A consists of questions up to serial number 01 and 20, each questions is
carrying 1 mark .

AT 2 | %° §EaT 21 § 29 TF & T 70 g, T90 T 2-2 3% & g a9 7 At
TLSTALHS &, ST ATFhad 30 9Teal & AT 47 87 |

Section B consists of questions from serial number 21 to 29, all questions are of 2
marks each, all questions are very short answer type, answer should not exceed
the maximum limit 30 words.

AT 3 | 7 TeqT 30 & 35 T o WoT oTiHA g, Tt =7 4-4 31 F g G 77 A= s g,
IAT ATEFAH 80 orsai 7 A2 AT 2¥ |

Section C includes questions from serial number 30 to 35, all questions are of 4
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marks each, all questions are short answer type, answer should not exceed limit
maximum 80 words.

15. 9TT 4 § %7 HEAT 36 & 38 TF & W ATHA &, THT T 6 -6 37 o g Tl T <% IAUHAF
g, SO ATwan 200 & & ATere a7 2T, o7 |. 36 T ST TATLT T HSTAAT & &7 7 &
[
Section D consists of questions from serial number 36 to 38, all questions carry 6
marks each, all questions are long answer type, answer should not exceed limit 200
words, question no. 36 is to be answered with the help of the passage.

T . | T E
T — 1
Section - A
1 Sociology is the study of: 1
HATSTATEA fohaenT 3reTaT g7
A) Human behavior individually / STTFdITd HAAT cTAER

B) Economic institutions / 37T 2eh HEUTT
C) Society and social relationships / GHTST IR gEfos gey
D) Political theory / TISTelifder fAeHTd

ITT | C) Society and social relationships / ¥HATST 3iX AT+ Faer

2 The term "sociology" was coined by: 1

"HIEAlSieree fohger feam ar "2
A) Emile Durkheim Tf&e g@ﬂ'

B) Max Weber #FH JsT

C) Auguste Comte 3HTEE Fie

D) Karl Marx FloT HTFYT

XY | C) Auguste Comte T e

3 Which of the following is not a social institution? 1
A7 # @ =l v HATGS TEAT A 82
A) Family / 9RAR

B) Religion / e

C) Weather / #lg&d

D) Economy/3T2i?€lTﬂ:2]T

ST | C) Weather / HlgH

A




Which Indian sociologist is known for his study on caste in India?

R # Sfd W 3ETT & fov Sl ARG FdAeRmE sfdey
&

A) G.S. Ghurye STERY .TH.

B) A.R. Desai TSHTS .3TR.

C) Max Weber Heg IR

D) Emile Durkheim Tf&el 33%‘!334'

A) G.S. Ghurye Gﬂgﬁ'ﬂ' .Tq.

"Verstehen" is a concept introduced by:

R N SRR AT ¥ "2
A) Emile Durkheim TR @TT

B) Karl Marx Flel ATFT

C) Max Weber #FH dsX

D) Herbert Spencer gI¢ TR

C) Max Weber #AFw awW

ol 1 ThE JhR I FEAT AT STl §?
What type of institution is a school considered?

A) 3T=TRe TEAT / Informal Institution
B) 3ig=aTRer TEAT / Formal Institution

C) enffHer TEAT / Religious Institution

D) 31T HEAT / lllegal Institution

B) 3ita=TRe WEAT / Formal Institution

Which of the following is a folkway?

5T § ¥ Fid APER Folkway) &2
A) Wearing clothes / FUS UgaTell

B) Worshiping God / $T3TaTeT <hr qair

C) Filing taxes / sh{ #LAT

D) Voting in elections/ﬂﬂﬁ' H FAdGe

A) Wearing clothes / 93 Ugelell

A




Which method is used in qualitative research?
UTCHS T # hierdll T ser 6T S &2
A) Survey TIETOT

B) Experiment greT
C) Interview HT&TTcshX
D) Statistics HITEThT

C) Interview HI&Tch X

Who wrote "The Protestant Ethic and the Spirit of Capitalism"?
"The Protestant Ethic and the Spirit of Capitalism" paer ford

A) Karl Marx PTol HTFY

B) Max Weber Aeg qX

C) Auguste Comte JTEE Fic
D) Durkheim lyP=rc) Z‘;@Tl'

B) Max Weber #AFw T

10

A society where status is achieved rather than ascribed is known as:

STer Regfa wrea 1 S &, F 6 Sed @ Ao § a8 @A e
eIl &

A) Closed Society / &G HHTST

B) Caste society / ST THTST

C) Open Society/lgﬂT AT

D) Feudal Society / ATHAT HHTST

C) Open Society / Gell WHTST

11

Who introduced the concept of “anomie”?
"TATHT FT "HehodaT fheeT & A

A) Weber #eg dsT

B) Durkheim ufAe g@fﬂ'

C) Ghurye Gﬂ'ﬂﬁ?’)’ .UH.

D) Karl Marx &hTel HTFY

B) Durkheim Tf&e gﬁ'ﬂ'

A




12 | Which type of research uses numerical data?
Fiadr e /AT FEaTcHs 3NTHsr T 3TAT FAT 872
A) Qualitative / CIMIRES
B) Interpretative / SITEATcHD
C) Quantitative / ATATcHH
D) Case Study / g F&ar
XY | C) Quantitative / ATATCAS
13 | Which Indian sociologist studied the "little and great traditions"?
"BIET 3R TS W3 1 "HeITd fhe SR gaAeRrET |
feRam?
ST | MLN. Srinivas Tasiifaara .oe.
14 | What is the term for inequality based on caste or class?
S A1 a9 9X MR FHATAAT T FAT Fad 87
I | Social Stratification (ATHATISI® TALIHION(
15 | Who gave the word of Social Physics?
“FrATTSIS Hifdehr 2ee forda feam?
ITT | Auguste Comte TS FIC
16 refers to the learning of norms, values and culture.
1 AT faree, et 3K TR & rfeEer ¥ ¥
ST | Socialization HIHTTSTRIOT
17 is the study of human society and social behavior.
AT FAST 3R G IaeR #1 EATT g
37T | Sociology / HHATSIRITE
18 The method involves the researcher becoming part of the
group being studied?
_ oy TAfr 7 MuerdT T 3eIT fRU ST W@ HAE HI
feear a1 e B
ITC | Participant Observation WEHRIT el




19

Assertion (A): Sociology studies human society in a scientific manner.

Reason (R): Sociology is based on common sense.

A) Both A and R are true, and R is the correct explanation of A.

B) Both A and R are true, but R is not the correct explanation of A.
C) Ais true, but R is false.

D) Ais false, but R is true.

YRUNT )A): HATSIART AT TATS HT HeqAA Th dafas aO&
¥ X B

HROT )R): FATSTARA HHTT AW G MR 21

A)A3R REET TEY & 3R R, AT TE TIEROT B

B) AR R TET & AfheT R, A FT TE TISEFROT AGT &
C)ATE &, ftheT R T 1

D) A TSl &, oIfehel RTLT &1

C) AWE &, AfheT R T 1

C) Ais true, but R is false.

20

Assertion (A): Rural societies change slowly compared to urban societies.
Reason (R): Urban areas have better connectivity and access to
technology.

A) Both A and R are true, and R is the correct explanation of A.

B) Both A and R are true, but R is not the correct explanation of A.

C) Ais true, but R is false.

D) A is false, but R is true.

YROMY) A): ATHIOT FATST A FATH T Joram 7 RN agera -
|

FROT )R): el &t & dgeR FAFRAD i awehF aF w7 R
A)A3R RaEAT T8 §, 3R R, AT TET TISER0T &

B)A 3R RaE @& & afheT R, A®T TEY TUsEeor gt &1
C)ATE &, afdheT R T &1

D) AdTeid §, iftheT R TEY ¥l

A) A3iT R @ €, 3T R, AT TE TUsEHIoT B

A) Both A and R are true, and R is the correct explanation of A.

AT - 2
Section-B

21

Give one definition of sociology.

FATTTET T Teh g ST

A




Sociology is the systematic study of society and social interaction.

FHATSTRET TATS 3R TSR 3eaR fohaT &7 AT eI &

22

What is the difference between status and role?

gfeafar 3R iR Faar e

1+1

Status refers to a social position, while role is the behavior expected from
that position.

gl v Ao Ug &, STe e $1fF 3 Ug & 3faTd cTagR ¥

23

Name any two major social institutions.

&l JHE HIATTI FEATHT & o1 faf@e)

1+1

Family and Religion.

gRar 3R |

1+1

24

What is sanskritikaran?
TERITRIITFITE ?
Or

What is Cultural Lag?

The process by which individuals learn their group's culture.

a5 T ot s 3 Eea ) eS|

Or

Cultural Lag refers to the delay in the adjustment of non-material
culture (like values and norms) in response to changes in material
culture (like technology).

aERfas Ao ag &l gl § o9 sifds aepfa &
AR 8 ST &, olfehel 3 HEDid (Hed, AlRIGs) FAT
W 3Ah AR el Seecl|

25

What is Non-participant observation?

3TN 37acliehe] FAT 2

3EgHRN Hdellehed )Non-participant observation) Teh eeT geufd &
fSE ettt Fog a1 TS & A @Y G W AfAT gl &

ST, ahdel 3/deilane] aeh 3T Thd HldTl ¢l

Non-participant observation is a research method in which the researcher
collects data solely by observing without directly engaging with the group

or community.

A




26

Define social stratification.

AT EAAHIOT AT &2

Or

What was the major focus of M.N. Srinivas’s studies?

W.U?r.shﬁama:mwa:rqg'@mwaw

It is the hierarchical arrangement of individuals in society based on factors
like class, caste, etc.

I HHATST A ITFAT hT UTeIshHATcHe STaEAT & Sl g9, STl 3Tie TN
TR Bl &1

Or
M.N. Srinivas focused on caste, social change, and the concept of
Sanskritization in Indian society.

A, . MfAaw d AR A & Sfa, aefee aRkade
3R "FERTIRIOT AT Gishar 9T AT IreTe o

27

Mention any two agent of social change.

FreToe 9Raded FT IS & FRE S|

1+1

Education and Technology . 18T 31X deheirehr

1+1

28

What is meant by sustainable development?

Tad [T T a7 7T &2

Development that meets present needs without compromising future
generations.

UHT T ST aciATe 3TaTehc3il st QT & AR s1fasar hr difeai &
forT HaTee ST ™|

29

Name any one Western sociologist and his contribution.

ThaY Teh ITRTATT FHTSIATER T 17 3 A9 @]

or

Name one Indian sociologist and his work.

TREY Teh AR GHATSIRTEAT &l a1 31 37ehT &1 faf@U|

1+1

A




3Ia¥ | Emile Durkheim — Study of social facts. 1+1
TR gUifa - ATATTT T2l 1 37T |
or
G.S. Ghurye — Worked on caste and race in India.
S.od. g3 - o # STl 3R e WA |
AT -3
Section - C
30 | Explain how Sociology differs from common sense understanding. 1+1+1+1
HHTSTRITE 3R HTHATT T # F7 3 52
I | 1. HATSTAREA sgafeyd ey 3R araal o 3menid gidr g, ST JrAea 1+1+1+1
THST ASTRT Y Feheferar 3R aRom3if o3 3menRa g 81
Sociology is based on systematic research and evidence, while
common understanding is based on everyday reasoning and
assumptions
2. GANREA Yy, 3T I8 AR favewor & fov donfas [(fe=t &
39T AT gl Sociology employs scientific methods for research,
data collection, and analysis. Common understanding is often based
on individual experiences or anecdotes.
AT THAST HFEX SAfFd & Hegrd ar foreat X 3menia gl #1
3. AN cAYe Aol TXOe3ll, €&l 3R ufkamst &
YT AT G| WHAT A IR AP 3Hefstal AR Turhy
et d WMAT 8y &1 Sociology studies broad social structures,
institutions, and processes. Common understanding is often limited to
personal experiences and local contexts.
4. FHSIARA aEdfassdl & fav gamg axar § 3R qaiael & qua &
IR FAT §| WATT FAST GART 3R HeT-3ehelal T FoTiae gl
Hhdl &1 Sociology strives for objectivity and tries to avoid biases.
Common understanding can be influenced by biases and value
judgments.
31 What do you understand by 'role conflict' with an example? 3+1

'${{FRT FEW' AT §? Teh 3aTe0T Higd GASTST|

A




Role conflict occurs when the expectations from different roles clash. For
example, a person being a parent and an employee may face conflict
between home and work responsibilities.

S fafeet s{fAmr3i & 98TV 39w 7 Thureh § dr 38 offder duy
e &1 SR — U i ST ATAT-FIEr 3R FeEary gt g, 38 W3R

FIATT I TFAEIR 7 guy¥ @ ghar g

3+1

32

Discuss the role of family as a social institution.

AT TEAT & & H GRAR 1 AT Tasv|

1+3

The family is regarded as a social institution because it performs many
important functions for society, such as nurturing children, socialization,
emotional support, and the transmission of cultural values. The family is
also crucial for individual development and social structure.

Role of the family:

¢ Nurturing and socialization of children

e Emotional and practical support

¢ Transmission of cultural values

e Social control

¢ Social identity

e Economic support

¢ Regulation of sexual activity and reproduction.

gRAR &l Tk Ao TEAT & FT & AT AT & Fhifh Ig
A & foT & FAgcaqul & T §, o Rraalt &1 drer-
qIvoT, FAGHROT, SiaalicAs FAde, IR Aiepias Heal &
gEdiaRor. aRaR afFd & e iR aafoe @xgar & fou o
g AgcaqUl &-
aRar &I A

o STl HT UTAI-NVUT 3R HHATSNRIOT
o HEATCHS 3R =aragiRe Fgr™ar
o WIS FHedl H FEAAIT

o g fHT=or

o AT YgdTd

o 3% gHYA

o a7 AfARAIT 3R gttt @1 s

1+3

33

Explain the difference between Material culture and non-material culture.

HIfceh I 3R 3ITcreh APl & 37eR Tse FfSw|

+3

A




Material culture deals with physical objects, such as technology,
architecture, and artifacts, while nonmaterial culture deals with ideas,
beliefs, values, social norms, and morality .

Material culture:

It deals with the material aspects of culture, such as material
objects, tools, technologies, artifacts, and places.

Material culture helps satisfy people's material needs, improve
lives, and make living in society easier.

For example, a house, a car, or a computer are elements of
material culture.

Non-material culture:

It deals with the intangible aspects of culture, such as ideas,
beliefs, values, social norms, morality, language, and knowledge.
Non-material culture binds people together, helps them live in a
distinctive way, and gives them identity as a culture.

For example, religion, education, law, and language are elements
of non-material culture.

Hitcrer TP il a3, S deheileh, aedehell, 3R Helpiaar
O waftd g, stafe sreiifas dwpfa faat, favard, feat, amfos
Aest, AR Afdsdhar & F&feT &-

Hifcreh TEpiar:

Ig d&pid & Hifas ggslt @ d@efta g o & #ifos
TEQ, 3T, Tohol1ah, FHolldh e, AR T

Hifceh FEpfcr ol &1 sifcreh Sl 1 QT e, ShaeT
IR T, 3R TART & @S & AWH 5 § A
ERGI

3CEL0T & AU, Th W, T FR, A Th HogeX Hlfds
TER(T & dca &

3rsitfcren EEpia:

g HERfA & AT Gget ¥ wefta g o9 fR e,
3o FEpfa el @ e Ay A §, 3 v fafdre
alih @ Sl A #Ace Al §, 3R 3¢ Tk TEpid & &7 A
9gaTe ¢l g.

3ETEX0T & foIT, ere, e, g, 3R e el deepta
% dcd .

A




34

What is the difference between qualitative and quantitative research
methods?

IUTIcH R ATTcH QMer Faferat o &/ 3w g2

Qualitative research focuses on understanding subjective experiences,
meanings, and perspectives, while quantitative research uses numerical
data and statistical analysis. Qualitative research may include
observations, interviews, and case studies, while quantitative research
may include surveys, experiments, and statistical models.

IUNcHS MY sIfFdRe egsal, 3t 3 eRepiol = gose
Hfed g &, STafh AAIcAS MY T&IAS 3eT iR AifeghT
faRQIOT &1 IYANET T & ONcHS MY H 3acllehe], HETchR
IR FF TEI MHS g TAHhd &, STafh AEICHS AT H Fqdeor,
AT AR AifeadT Afge A g Tohd .

35

What is the role of social norms in maintaining order in society?

HHTST A HIATTTh ATAGST bl ${[HRT T 52

Social norms play an important role in maintaining order in society. They
guide people's behavior, shape social interactions, and help maintain
harmony and predictability in society .

Role of Social Norms:

Controlling Behavior
Regulating Social Relation
Maintaining harmony
Enforcing Social Control
Maintaining existence

HATSIS HARIGS TATS # TIEAT AW W@l A Hgea ol iR
g g1 Pl & »yagrR A FAERT F=a § e
I:FRaT3t A HER &d B, AR HAS A HeHE R qEieA
FATT @ H A R &
TSI Hlelcst I ffAehT-

o AR & fAIRAT =

o TGS Ty &I AfAIfEd Hr

o HSET FATT IGAT

o HHATSR AT HI oE] AT

o 3¥dca &I TATT TG

B N N Y

AT — 4
Section—-D

T GEAT 36 & 38 EAH SULCHT § AT TedT TUEF &ad & faah &
AT T HL -

Question numbers 36 to 38 are long answer type and should be
evaluated at the discretion of the examiner.

A




36

“Social change refers to the transformation in the structure and
functioning of society. In India, rural and urban areas are experiencing
different forms of change. Rural society is witnessing shifts due to land
reforms, migration, and government policies. Urban society is growing
rapidly due to industrialisation, globalisation, and technological
advancements. However, these changes bring both opportunities and
challenges. In rural areas, traditional institutions like caste and joint family
are weakening. In cities, though there are better opportunities for
education and employment, problems such as slums, unemployment, and
pollution are increasing. The interaction between rural and urban areas
has become more intense, creating a mixed pattern of development.”

"HTATTSS IR T deqd FATS Y FIGT 3T FHETOTe & gRadr ¥ ¥
AR & Tror AR el o A RffeT TR & Rade ¢@ o w 1 g
AT # HfA YU, yares AT aER) At & FRor agem o w e asd
AT 3iteraiaor, dedisvor it awtdr R & FRT Ot § 9% @I R
gTeiif, ¥ gRacer et & wr-ary oot st dwT 3m 1@ §1 awior et
Ffer AR HYFd TRAR ¥ TRIRE FFA FASR g T | adt e A, Rvaw
3R VAR F 3= IaaR 3Tae §, Afda FiForar, Rsremd sk gqwor St
FHEATY 9¢ @) &1 ameior 3 e &5 & e g 93 T ¥, e e #
P TawT e s g

Questions / 9T

1. Whatis meant by social change?
iAo 9Radel T FaT 37T §?
2. Mention two factors that are causing change in rural society.

JHOT FATST H IRAA & &I HROT ST

3. What are some problems faced by urban society due to rapid
growth?

G FHTST 1 oy Gt & HROUT Hief-hied T FHEIT g
W&

4. How has the relationship between rural and urban areas changed?
FTEIOT 3R A &1 F T Tt A F@r gRada g2

5. Identify one traditional institution that is weakening in rural
society.

T gATT H PlA-IOF Tk IRURS TEAT FHHSR 8 W|Y
&

6. Suggest one positive and one negative effect of urbanisation.
QEIHUT T Teh FhRIcHS 3 Toh dAhRIcAD JHT

ERIEN!

A




37

Discuss the role of education as a social institution. How does it influence
social mobility?

Tsh HIATISIh TEAT & &9 F A6 7 e W == Hifoe|

g AT faelerar & Ha genfad wad &2

Or
Explain the concept of ‘Social Groups’. How do primary and secondary
groups differ?

AT HHG 1 Hhels] FATST| FAfAw IR facdas
TGN H FIT HAR g g2

2+4

38

What is the role of culture in shaping human behavior? Discuss how
socialization helps individuals become functioning members of society.

A SFGER I AR A H FEDIA A FaT AR &2
HATSIEROT 8 IAFdAl T AT & TfhT TSET §olad H
HEIAT AT &, 380 W Tdr HfAv]

or

What is urbanization? What significant changes have occurred in Indian
society due to urbanization?

AEAHOT AT §? ATNHOT q ARNAT FAST H AT Hgedqur
aRada 3 g

2 +4

2 +4




